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import pandas as pd

import numpy as np

from scipy.spatial.distance import pdist

from scipy.cluster.hierarchy import linkage, dendrogram
import matplotlib.pyplot as plt
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plt.rcParams["font. famlly ] 'IPAexGothic"
] =

plt.rcParams["font.size' 15

file = pd.ExcelFile("C:/Users/user/Downloads/python.x1sx")

daFa file.parse("T&/HE%E1") user&L N3 1—H D Downloads

print(data) THLHIBEENTONDER
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dist = pdist(data.iloc[:, 1:], "euclidean")
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FeHisRELTRIMRIELET,

result = linkage(dist)
dendrogram(result)
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result = linkage(dist) / JYRTYRMIEHBLTIRNIVIZERE

plt.subplots(figsize=(10,5)) <
dendrogram(result, labels=data.iloc[:, @].tolist(), leaf rotation=-9@,
leaf font size=15)
plt.show() ™.
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data.loc[:, "fir
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].plot.bar(stacked=True)
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dist = pdist(data.iloc[:,

1:1,

"cosine")

result = linkage(dist)
plt.subplots(figsize=(10,5))

dendrogram(result, labels=data.iloc[:, @].tolist(), leaf rotation=-90,

leaf font size=15)

plt.show()
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fig, axes = plt.subplots(nrows=1, ncols=3, figsize=(15, 5))
data[data. #EFR=="8%fER"].1loc[:, "[itEE":].iloc[0@].plot.ple(ax=axes[0],
autopct="%.1f%%", title="#2[EE")

data[data.&EF E=="EFE"].loc[:, "HTEE":].iloc[0@].plot.pie(ax=axes[1],
autopct="%.1f%%", title="EFE")

data[data. 3BT E=="1FE"].loc[:, "HTEE":].iloc[@].plot.pie(ax=axes[2],
autopct="%.1f%%", title="1F1E")
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